Тест по теме «Показательные уравнения»
1. Решите уравнение 2х = 32

Выберите один из 4 вариантов ответа:
1) 4
2) 5
3) 16
4) 3


2. Решите уравнение 3х-1 = 27

Выберите один из 4 вариантов ответа:
1) 9
2) 8
3) 2
4) 4

3. Решите уравнение [image: ]

Выберите один из 4 вариантов ответа:
1) 2
2) - 2
3) 7
4) - 7

4. Решите уравнение 12х = 1
Выберите один из 4 вариантов ответа:
1) 12
2) -12
3) 0
4) 11
5. Решите уравнение  2-х = 8

Выберите один из 4 вариантов ответа:
1) 3
2) 4
3) - 4
4) - 3

6. Решите уравнение  2х ∙ 3х = 36

Выберите один из 4 вариантов ответа:
1) 6
2) 2
3) - 2
4) 31


7. 
Решите уравнение  

Выберите один из 4 вариантов ответа:
1) - 4
2) 12
3) - 12
4) 4
8. 
Решите уравнение   

Выберите один из 4 вариантов ответа:
1) 0; 1
2) 1
3) 0
4) 0; - 1

9. Решите уравнение 2х-2 = -2

Выберите один из 4 вариантов ответа:
1) - 1 
2) 1
3) - 3 
4) нет решений

10. 
Решите уравнение  
Выберите один из 4 вариантов ответа:
1) 1
2) 0
3) -1; 1
4) - 1
11.  Решите уравнение    3x = 27  
Выберите один из 4 вариантов ответа:
1)  3
2)  9
3) 4
4) 2
12.  Решите уравнение   5x-2 = 25
Выберите один из 4 вариантов ответа:
1)  2
2)  4
3) 5
4) 3

13.   Решите уравнение  6x-4 = -6 
Выберите один из 4 вариантов ответа:
1) - 1
2)   5
3)  корней нет
4)   -5

14.   Решите уравнение   3x+2 + 3x = 90
Выберите один из 4 вариантов ответа:
1)    2
2)  44
3) 1
4) 3
15.    Решите уравнение    100x - 11 * 10x + 10 = 0 
Выберите один из 4 вариантов ответа:
1)   10;1
2)   0;1
3)    1
4)   10

16.  Решите уравнение    6x-2 = 36
Выберите один из 4 вариантов ответа:
1)   5
2)   2
3)  4.
4)  8

17.   Решите уравнение    9x-1 = -9 
Выберите один из 4 вариантов ответа:
1)  - 1
2) корней нет
3)  2
4) -2
18.   Решите уравнение    3x+1 + 3x = 108
Выберите один из 4 вариантов ответа:
1) 2
2) 35
3) 3
4) 9

19.  Решите уравнение    4x + 2 * 2x - 80 = 0 
Выберите один из 4 вариантов ответа:
1)     3
2)     3;5; 
3)  8; - 10.
4)  5; - 10
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